
OTWAY BASIN 2008 2D PROCESSING: SHOTPOINT TO CMP RELATIONSHIPS 
Line Number SP range SP/CDP Relationship SP =  CDP SP =  CDP 
HOT07A-01 1000 – 1400 CDP=(SP – 1000)*4+420 1000 420 1250 1420 
HOT07A-02 1000 – 1401 CDP=(SP – 1000)*4+420 1000 420 1250 1420 
HOT07A-03 1304 – 900 CDP=(1304 – SP)*4+420 1304 420 1054 1420 
HOT07A-04 1275 – 900 CDP=(1275 – SP)*4+420 1275 420 1025 1420 
HOT07A-05 1384 – 900 CDP=(1384 – SP)*4+420 1384 420 1134 1420 

Line Number SP range SP/CDP Relationship SP =  CDP SP =  CDP 
OH91-143 1565 – 939 CDP=(1569 - SP)*4+254 1569 254 1319 1254 
OH91-144 1670 – 939 CDP=(1670 - SP)*4+254 1670 254 1420 1254 
OH91-145 1000 – 1721 CDP=(SP - 1000)*4+254 1000 254 1250 1254 
OH91-146 1000 – 1761 CDP=(SP - 1000)*4+254 1000 254 1250 1254 
OH91-147 1000 – 1816 CDP=(SP - 1000)*4+254 1000 254 1250 1254 
OH91-148 1755 – 967 CDP=(1755 - SP)*4+254 1755 254 1505 1254 
OH91-149 1066 – 1901 CDP=(SP - 1066)*4+254 1066 254 1316 1254 
OH91-150 1680 – 1016 CDP=(1680 - SP)*4+254 1680 254 1430 1254 
OH91-151 1619 – 980 CDP=(1619 - SP)*4+254 1619 254 1369 1254 
OH91-152 1602 – 998 CDP=(1602 - SP)*4+254 1602 254 1352 1254 
OH91-156 1700 – 939 CDP=(1700 - SP)*4+254 1700 254 1450 1254 
OH91-157 1000 – 1571 CDP=(SP - 1000)*4+254 1000 254 1250 1254 
OH91-159 1545 – 939 CDP=(1545 - SP)*4+254 1545 254 1295 1254 
OH91-160 1550 – 939 CDP=(1550 - SP)*4+254 1550 254 1300 1254 
OH91-161 1000 – 1666 CDP=(SP - 1000)*4+254 1000 254 1250 1254 
OH91-162 1000 – 1820 CDP=(SP - 1000)*4+254 1000 254 1250 1254 
OH91-163 1606 – 939 CDP=(1606 - SP)*4+254 1606 254 1356 1254 
OH91-164 1550 – 939 CDP=(1550 - SP)*4+254 1550 254 1300 1254 

Line Number SP range SP/CDP Relationship SP =  CDP SP =  CDP 
OE80A-1015 2902 – 2374 CDP=(2902 – SP)*2+105 2902 105 2402 1105 
OE80A-1017 2514 – 3539 CDP=(SP – 2514)*2+105 2514 105 3014 1105 
OE80A-1019 2290 – 2746 CDP=(SP – 2290)*2+105 2290 105 2790 1105 
OE80A-1021 4085 – 4746 CDP=(SP – 4085)*2+105 4085 105 4585 1105 
OE80A-1023 2852 - 2123 CDP=(2852 – SP)*2+105 2852 105 2352 1105 
OE80A-1025 2902 – 2356 CDP=(2902 – SP)*2+105 2902 105 2402 1105 
OE80A-1026 2825 – 2376 CDP=(2825 – SP)*2+105 2825 105 2325 1105 
OE80A-1027 2200 - 2745 CDP=(SP – 2200)*2+105 2200 105 2700 1105 
OE80A-1028 2320 – 2870 CDP=(SP – 2320)*2+105 2320 105 2820 1105 
OE80A-1029 2830 – 3442 CDP=(SP – 2830)*2+105 2830 105 3330 1105 
OE80A-1030 2906 – 2260 CDP=(2906 – SP)*2+105 2906 105 2406 1105 
OE80A-1031 2300 – 3440 CDP=(SP – 2300)*2+105 2300 105 2800 1105 
OE80A-1032 2210 – 2960 CDP=(SP – 2210)*2+105 2210 105 2710 1105 
OE80A-1033 3610 – 2530 CDP=(3610 – SP)*2+105 3610 105 3110 1105 
OE80A-1034 2970 – 2185 CDP=(2970 – SP)*2+105 2970 105 2470 1105 
OE80A-1035 2380 – 3280 CDP=(SP – 2380)*2+105 2380 105 2880 1105 
OE80A-1036 2190 – 2980 CDP=(SP – 2190)*2+105 2190 105 2690 1105 
OE80A-1037 4120 – 4850 CDP=(SP – 4120)*2+105 4120 105 4620 1105 
OE80A-1038 2990 – 2190 CDP=(2990 – SP)*2+105 2990 105 2490 1105 
OE80A-1039 3010 – 2455 CDP=(3010 – SP)*2+105 3010 105 2510 1105 
OE80A-1040 2195 – 3180 CDP=(SP – 2195)*2+105 2195 105 2695 1105 
OE80A-1042 2195 – 3157 CDP=(SP – 2195)*2+105 2195 105 2695 1105 
OE80A-1056 2285 – 3200 CDP=(SP – 2285)*2+105 2285 105 2785 1105 
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